	Scenario
	Model
	
	
	
	
	Failed (%)

	A
	FMP
	1.13
	0.58
	-0.01
	0.07
	 0

	A
	ST
	0.75
	0.79
	 0.01
	0.02
	24

	A
	T1
	0.58
	0.65
	 0.01
	0.04
	 0

	A
	T2
	0.85
	0.84
	 0.01
	0.02
	 0

	B
	FMP
	1.11
	0.58
	-0.01
	0.06
	 0

	B
	ST
	0.83
	0.79
	 0.00
	0.03
	14

	B
	T1
	0.67
	0.58
	 0.00
	0.03
	 0

	B
	T2
	0.89
	0.77
	 0.01
	0.03
	 0

	C
	FMP
	1.74
	0.36
	-0.17
	0.38
	 0

	C
	ST
	0.48
	0.45
	 0.02
	0.06
	35

	C
	T1
	0.54
	0.54
	 0.01
	0.07
	 0

	C
	T2
	0.78
	0.55
	 0.01
	0.08
	 2

	D
	FMP
	1.03
	0.58
	-0.01
	0.05
	 0

	D
	ST
	0.69
	0.67
	 0.00
	0.03
	16

	D
	T1
	0.60
	0.58
	 0.00
	0.03
	 0

	D
	T2
	0.82
	0.80
	 0.01
	0.02
	 0

	E
	FMP
	1.01
	0.60
	-0.02
	0.04
	 0

	E
	ST
	0.74
	0.74
	-0.01
	0.02
	16

	E
	T1
	0.60
	0.58
	 0.00
	0.03
	 0

	E
	T2
	0.84
	0.82
	 0.00
	0.02
	 0

	F
	FMP
	1.84
	0.30
	-0.23
	0.42
	 0

	F
	ST
	0.38
	0.09
	 0.05
	0.10
	52

	F
	T1
	0.70
	0.54
	-0.02
	0.06
	 0

	F
	T2
	0.65
	0.55
	-0.01
	0.06
	 0
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